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General Instructions:

1. This question paper comprises of 30 questions in the question paper. All
questions are compulsory.

2. Question nos. 1 to 15 are very short answer type questions carrying 1
mark each.

3. Question nos. 16-21 are questions carrying 2 marks each.



4. Question nos. 22-27 are questions carrying 3 marks each.

5. Question nos. 28, 29 and 30 are questions carrying 5 marks each.

6. There is no overall choice. However, an internal choice has been provided in
2 questions of two marks, 2 questions of three marks and questions of Five

marks.

1. Tangible Assets do not include 1
(A) Goodwill  (B) furniture  (C)stock (D) cash

Hd FFIRT T &
(A) T (B)BaiX  (C)Teish (D) Uhs

2. Voucher is prepared for 1

(A) Cash received and paid (B) Cash/credit Sales

(C) Cash/credit Purchase (D) All of the above

a3 fAFT & v IR foear Srar g

(A) Uehg 9Ied 3R AT (B) Uehg/shise fashr

(C) Uhz/hfse @lg OESRESIE

3. Rohan has returned goods worth X5000 to Radheyshyam as he found it defective,
which document will be prepared by Radheyshyam? 1

(A) Invoice/Bill (B) Debit Note (C) credit voucher (D) Credit Note

AT o JRET 1 & FWOT 5000 T AT ALURAA H arfed foram B
TAATH, CaRT el TN T9F JIR fhar Srwam?

NEIEETIEL (B) ATH 9 (C) shisc JHR (D) STAT 9T
4. A Ledgeris a 1
(A) Principal Book (B) Subsidiary Book (C) Cash Book (D) Purchase book

ol & T



(A)HET Y& (B) WG JEdh (C) Vs Y& (D) T TEdIh

5. Salary due for the month of March will appears in side of Cash Book 1
(A) Receipt (B) Payment (C) Contra (D) None of the these
AT & HIE & &I dlel Uehs J&eh & ge7 & for@r Sreem|

(A) STTCT (B) STt (C) fagda (D) TH H HIg =TgT
6. Asset sold on credit will be recorded in 1

(A) sales book (B) Journal Proper (C) Sales Return Busk (D) Petty Cash Book

3UR §F 75 FFfT 1 S@r gem
(A) Tasha &1 (B) Usteireren fARAV () fashy aradr §87 (D) o7g Uehs &

7. Assets - Liabilities = 1
gFafaar - e =
8. Premium paid on the life Insurance policy of the propriter will be debitedto_ 1
AT & SliaeT AT gifeddl & fw gehre 9w ffAgs a1 side foar steen
ard HI
9. Cashbook maintained to record small expenses is called 1
oI Gdf & oIWihel & U &1 a5 Aehs SET A gl Silll g
10. What are artificial personal accounts? give one example. 1
Fw AFwE W R FEd § 2 T SaTeoT Ao
11. What do we come to know by preparing trading account? 1
IR QT §ellel & §H AT AT 8iam 87
12. Give the formula to calculate cost of goods sold. 1
fasha T 91T AT ST ST I AT el I T AT |
13. AR (A) : STeTeT I FHA FlATSE &I e gl STl & 1

SHROT (R): oo &1 e GfaTSe &I qEdeh gl el &l



e R ot
(31) HARUA (A) IR HROT (R) HET § elfched HROT (R) HTAFYUA (A)
T T TISCIHIUT T8 &
() FROT (R) AR IfARTA (A) AT TEY & 3R FROT (R) HAFUA (A)
T TET STTEAT g
(F) Shael AfAFAUA (A) TeT
(&) AP (A) HR FROT (R) =t FeY TgT &

Assertion(A): Journal is called the books of original entry.
Reason (R): Ledger is called the books of final entry.
Choose the Correct Option

(a) Assertion (A) and Reason (R ) are correct but Reason (R ) is not the correct
explanation of Assertion(A ).

(b) Both Reason (R ) and Assertion (A ) are correct and Reason (R ) is the correct
explanation of Assertion (A ).

(c) Only Assertion (A ) is correct.
(d)Both Assertion (A ) and Reason (R ) are not correct.

14, 3TAFUT (A) : STTHT & FAAAT & SATFANA WAef-GeT I TEADT 7 Gof TGl
feram ST & 1

$HRUT (R): SAUR ShIS GUROT & AR, Tcdeh AEHAS 36TH Fl
HAifelepl H 37eleT oIl Sl & &I H HAAT AT ¢l

(37) HAfARYA (A) 3R FROT (R) FLT & oifhed FROT (R) ATHFUA (A) FT Ter
TISERIOT Al gl



() FROT (R) 3R HFARYA (A) Sl LT § 3R FHROT (R) 3TAFUA (A) hr F&r
SATET &

() haol FFARYTT (A) TET &l
(@) 31fApaT (A) 3R FROT (R) ST TEr 8T 2

Assertion(A): Personal transactions of the owners of the business are not
recorded in the books.
Reason (R): According to the business entity concept, each business enterprise
is considered as an accounting unit separate from Owners.
Choose the Correct Option

(a) Assertion (A) and Reason (R ) are correct but Reason (R ) is not the correct
explanation of Assertion(A ).

(b) Both Reason (R ) and Assertion (A ) are correct and Reason (R ) is the
correct explanation of Assertion (A ).

(c) Only Assertion (A ) is correct.
(d) Both Assertion (A ) and Reason (R ) are not correct.

15. AR (A): 3UANT, AT sl IR gHeaT e & HRUT Heded Teh o
gufa & Ao # fFrrac Bl 1

SRUT (R): H{eTeTd T 3ol HURTAT 9T O[T ST FehlT § A6 d H AT 31HA
gl

(37) HfARYA (A) IR FROT (R) Fer & oAfehed HROT (R) ATRFYT (37) FT Fer
TISERIOT Al gl

() SROT (R) IR 31TAKYA (A) ST HET § 3 FROT (R) AHTHRYUT (A) T el
TET ¢



(@) g fAFAT (A) TE EI
(@) 3fAFTT (A) FET AdT § Afhed FHROT (R) Fer gl

Assertion(A ): Depreciation is fall in the value of a Tangible Asset because of
Usage, Passage of time and Accident etc.
Reason (R ): Depreciation can be charged on all fixed assets whether they are
Tangible or Intangible. Choose the correct option

(a) Assertion (A) and Reason (R ) are correct but Reason (R ) is not the correct
explanation of Assertion(A ).

(b) Both Reason (R ) and Assertion (A ) are correct and Reason (R ) is the
correct explanation of Assertion (A ).

(c) Only Assertion (A ) is correct.

(d) Assertion (A ) is not correct but the Reason (R ) is correct.

16. Explain any two objectives of accounting.
Wil & IS & 36T IdTST ¢ |

17. Define with example
(i) Fictitious Assets (ii) Expenses
OR
(i) Drawing (ii) Gain
fAFATaT@d ersal I 3TeX0r afgd FASIST |
(i) AFHAT FEafaAT (i) =TT
31qar
(i) 3ATgIOT (i) oIreT
18. What is accounting period Concept ?

or@r 3rafer &1 gYurReT FAT § ?



OR 3Ydr

What is dual aspect concept ?

GfaUge] TTUROT &7 §?
19. Give two point of distinction between purchase books and purchase account. 2

$T s AR HT T A & AR faf@v |

20. Give any two reasons for Popularity of Double entry system. 2
g oI @r YuTrell &l ik fIaar & foIw IS & FHROT Jd1e]|

21. Explain any two advantages of accrual basis of accounting. 2
ATl & 3UTole] TUR & &g al o faf@u|

22. From the following particulars prepare bank reconciliation statement. 3

(a) balance as per pass book on 31 march overdrawn X15,000.

(b) cheque drawn on 31 march 2025 %2,000, X6,000, X2,400 and X3,600 But out of these
the last two cheques were not presented for payment up to 5™ April 2025.

(c) interest on bank overdraft not entered in a cashbook X845.

(d) Out station cheque for 20,000 lodged in the bank on 25 march, 2025nBut out of
these cheques worth 18,000 were credited in April, 2025.

(e) X200 being chamber of Commerce subscriptions paid by the bank under a standing
order on 31° March. 2025 was not entered in the cashbook.

frAfafEd faavon @ d FaAre faeor R S|
() 31 AT & G Foh & IHFAR AV AT 15,000 |

(@) 31 AT 2025 HI Hdrer IT Tk 2,000, 6,000, 2,400 3R 3,600 offhel
ST @ AHTAF & Ak 5 3 2025 TH P & AT gedd =ier e )

(31) dep 3NSRGIFE T ATl HeAgeh H Gol gl fohaT AT 845]

() 25 AT, 2025 HT deb FH STAT fRUT T 220,000 F 3¢ TAT dh| dfched SAH
{18,000 & Tk 3V, 2025 H FTAT fhU T (3) 31 AL, 2025 FI dF GaRT



TUT HIEA & o ATl fhU 7T IR 3 HIAG FEEIAT & X200 T

hergeh H col =gt fohar ar|

23. Prepare Accounting equation on the basis of the following transactions:

1. Start business with Cash
2. Purchase Goods for cash
3. Rent received

4. Salary outstanding

5. Received interest

afaf@a a8 & 3R W J@ihad HRIOT IR &Y

1. 5RET H ST Y&
2. TR & forw T @l
3. fopmam g &

4. JHTAT JeT

5. sTToT gred fohar

24. Pass Journal Entries from the following:

3
a
1,20,000
10,000
5,000
2,000
700

a
1,20,000

10,000

5,000

2,000

700

3

1. Received X 20,000 from Subhash, which were written off as bad debts in the

previous year.
2. Salaries due to cleeks X 50,000.
3. Out of rent paid this year, 210,000 related to next year.

OR

1. Provide 10%. Depreciation on furniture Costing X 50,000.
2. Provide 12%. Interest on Capital amounting to X 10,00,000.
3. Charge interest on Drawings X 8000

T @d H Feor gfafSear ffav:



1. A H 220,000 e g, foiee Mool a¥ god %01 & &9 # forwr arr |
2. FcTehl I T ddel X 50,000
3.38 a¥ §IIcTe fhU T T & &, 10,000 3Tl aY & Hefed|

3dar

1.%50,000 I oI dTel Beile] W 10% Hedgd &l |

2.%10,00,000 &I Yoll 9T 12% AT HeTel |

3. 37TEY0T YT sATST 9T X 8000

25. Prepare Trial Balance from the following information. 3

e @d A & dade IR HIfev |

Prepaid expenses X 5,000
Outstanding Rent X 2,000

Bad Debts Recovered X 4,000
Interest on Investment X 1,000
Bank overdraft X 2,000
Discount Allowed X 800

26. Pass the rectification entries from the following particulars. 3

1. X710, the total of sales return Book has been posted to the credit of the Purchase
return A/c.

2. An item of X626 written off as a Bad Debt from Chanderkanta has not been debited
to Bad Debts A/C.

3. Goods sold to Xand Y for 1600 and 1200 respectively, but were recorded in the
Sales Book as to X %1200 and Y X 1600.

OR

1. Goods of X850 were returned to Bhardwaj It was recorded in the Purchase Book as
X 580.

2. Asum of X375 owned by Ravi has been Included in the list of Sundry creditors.



3. Anamount of X 750 spent in the repairs of an old machinery has been debited to
Repair A/C.

frfafed faagon # gur gfafsear X |
1. fasha ATl qEcieh &1 el TN X710 T TOET Td H AT HT 7S &

2. dgehid A M HUT & 7 H @ 1T 626 I A T 372MeT HKOT T
# 2fge a8 Far = B

3. T 3R aT$ T HARM: 1600 3 1200 F HIel ST 91T, oAfehed AT TEh
H g & faT 21200 3K a5 & QT 21600 & &7 & of forar 2|

g7

1. 9REdTST T 850 HT AT 19 fhaAT I, 38 T J&dh H /80 & &I H
&o forar |

2.7 & Farffca arelr x375 $r U A fafder defert Hr g & anfAa forar
IRAT

3. Ueh el AWM b1 FAFAT H T Y a5 X750 bl AR &l ATFAT Tl A
sfee & fgar aar gl

27. Net Sales during the year ended 31 March 2025, is X 6,00,000 Gross Profit is 25% on
Cost. find out Gross Profit and cost of goods sold. 3

31 ART 2025 1 HATC ¥ & SRIT YSe f9shr 26,00,000 &1 Fehel TS SATaTcd
T 25% &1 Wehel TS 3R = A FEI3T AT AT AT BT

28. Birla Cotton Mills purchased a machinery on 1st August, 2009 for 90,000. On 1st
October, 2010 it purchased another machine for X40,000.

On 30th June, 2011 it sold off the first machine purchased in 2009 for X58,000 and on the
same date purchased a new machinery for X1,00,000. Depreciation is provided at 20%
p.a. on the original cost each year. Accounts are closed each year on 31st March.

Show the Machinery Account for three years. 5



foerm sice fAed & 1 379TEd, 2009 T 290,000 H Teh FMAY @AEN| 1 3HFCe,
2010 ! &I 40,000 H Teh 3R #AMA @ALET| 30 5T, 2011 T SHT 2009 H TLET
IS Ugell ALMT P 258,000 H o fear 3R 34T TG T %1,00,000 H Tk A3
AT @AEY| Fedh a¥ I AT R 20% T a¥ & T & Heded Tl
fohar STaT &1 @9 9% ay 31 AT T & fhT S &1 e ast & fow
AN TIaT fG@m|

OR
Write any five causes of depreciation.
HAed B & Hlg YT SR fafgu|
29. Prepare two column cash book from the following information: 5
fAFfoiad SR & & Sicd dlell Jhs Tl dIR D
date Particulars Amount (X)
June 1 Cash in hand 2,800
June 1 Cash at Bank 7,000
June 10 | Discounted a bill of exchange at 1% through bank 5,000
June 15 | Cash sales 6,000
June 18 | Paid into bank 3,000
June 20 | Paid rent 700
June 25 | Bank charges 100
June 30 | Withdrawn from bank for personal use 1,500
June 30 | Purchase goods on credit from Vinay 4,000
OR

Write the advantages of special purpose subsidiary book.
AW 3Ry arely e qEdsh & o faf@u|

30. Prepare the Trading Account, Profit & Loss Account, and Balance Sheet by looking at
the Trial Balance and adjustments given below: 5

i feaT I erel doid 3R TATAIST @ ¢ 39T WIdT, STH-gTTe @TdT, 3R doid
e IR HIfST:

Trial balance

As on 31t march 2024



faavoT particulars sfse debit (%) $isT credit ()
¢e1gR debtors 15,000

oIchg cash 5,000

W) furniture 20,000

foRTram rent 6,000

ddeT salary 8,000

@de purchase 25,000

YRf#% Feiw opening stock | 10,000

foshr sales 40,000
gail capital 49,000
i’?’r total 89,000 89,000
Adjustments GHTASTT :

1. Closing stock is X15,000.

2. Unknown expenses of 1,000 are payable.

3. Furniture is to be depreciated at 10% per annum.

4. Bad debts of 1,000 are to be written off.

1. 37TdH Teish 15,000 &1

2. 37T @ 31,000 ST &

3. Haile TR 10% AT HedgId Sl 5|

4.%1,000 T g8l FUT (Bad Debts) &I @& |

Write five differences between trial balance and balance sheet.

OR

deae 3N JeferdT & @ 9 AR ol




